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The 2 Times Table ‘

Harpritt has filled in the blanks on
this number track.

10 14|16 | 17

What mistake has Harpritt made?
Explain your answer.

What should he have written?

When I say the multiples of 2,
I won't say any odd numbers.

d

Do you agree with Harriet?

Prove it.

Harriet





image2.png
The 2 Times Table °

Find all the possible calculations using the clues.

2 x( )=

The number in the circle is greater than 3.

The number in the square is less than 24.

Both numbers are even.

The number in the square is a 2-digit number.





